
52
0

006

E

Tracciamento PIPERACK

Scala 1:50

F

G

E

12

13

H

I

12'

12"

7'

F

G

E

12

13

H

I

12'

12"

7'

F GE

C.P&L-DW.PL-002_01

H H G F E

2000 10225 13070 918

11
46

5

300
1700

300
9825

250 250
12345

475 475

183

260 260

47
5

47
5

10
74

0
25

0
25

0

2000 4070 4000 2155 2215 4000 4000 2430 850

85
0

35
00

40
00

35
40

46
0

12
35

0

va
r.
15

21
00

12
0

20
20

12
0

11
30

93
0

40
0

39
96

14
0

86
0

14
0

va
r.

55
05

va
r.

65
15

43
16

11
40

va
r.

54
45

99
0

Q.+0000 Q.+0000 Q.+0000 Q.+0000

850 393 3281 4000 4000 4370 4000 4000 2140

200 550
200

12345 500 9825
300

1700 300

HEB140

L60X6

HEB140

Vista filo RACK  "12"

Scala 1:50

2123

97
0

E

E

100 750

Pianta PIPERACK

Scala 1:50

2140 4000 4000 4370 4000 4000 2430 850 393 850

006

A

006

B

006

C

006

D

2000 10225 13070

Vista filo RACK  "13"

Scala 1:50

Q.+6485Q.+6485Q.+6485Q.+6485

Q.+12020Q.+12020

r
_
e
m
i
r
o
.
G
i
u
n
t
a
 
-
 
P
r
o
t
.
 
2
6
/
0
4
/
2
0
2
3
.
0
4
0
4
2
9
0
.
E
 
 
C
o
p
i
a
 
c
o
n
f
o
r
m
e
 
d
e
l
l
'
o
r
i
g
i
n
a
l
e
 
s
o
t
t
o
s
c
r
i
t
t
o
 
d
i
g
i
t
a
l
m
e
n
t
e
 
d
a
 
B
E
R
T
I
 
M
I
C
H
E
L
E



006 1:20

E

2x L60X6

2x L60X6

2x L60X6

L100X10

L100X10

L100X10

L100X10

G G

G - G

200 550 200

L60X6

L

6

0

X

6

L
1
0
0
X

1
0

L
1
0
0
X

1
0

12 13

C.P&L-DW.PL-002_01

12"

12'

7' I

va
r.

11
97
2

va
r.

55
05

93
0

va
r.

55
05

93
0

va
r.

55
05

93
0

VA
R.

15
25
0

tassello chimico M20 vedi dett.

malta tipo EMACO

Q.+0000 Q.+0000Q.+0000Q.+0000

malta tipo EMACO

malta tipo EMACO

4 60x10x360

DETTAGLIO CANCELLINO

AUTOCHIUDENTE

006

D

30
14
0

61
0

14
0

30

95
0

20
0

55
0

20
0

85
0

850

10 28 10

30 140 610 140 30

21
15

12
0

20
20

12
0

15
93

5
42

1
12
0

22
76

20
40

14
0

86
0

14
0

22
31

46
80

11
05

40
06

300 1700 300

IPE120

IPE120

IPE120

Vista filo "E"

Scala 1:50

520

850

006

F250 600

006 1:20

F

47
0

50
34

0

100 650

99
0

85 330 85 350

L100X10

L100X10

M12x50

M12x50

L60X6

M12x45

L60X6

L60X6

L60X6

L60X6

L50X5

L60X6

L60X6

UPN 240

UPN 240

M16x65

M16x65

SEZIONE filo "G"

Scala 1:50

60
47

0
50

34
0

710

60 100 650 100

60
10
0

73
0

E - E

F F

60
94

0
60

L60X6

F - F

L60X6

L60X6

L60X6

L100X10

006 1:20

A

3x L60X6

HEB140

2 M16x45

A A

30
0

300

80
14
0

80

80 140 80

30
0

300

A - A

HEB140

006 1:20

B

130 240 130

20

500

UPN 240

4x  L60X6

B B

50
14
0
14
0
14
0
50

50 400 50

130 240 130

52
0

500

B - B

UPN 240

L60X6

006 1:20

C

D

D

006 1:20

D

60 940 60

3060
60

60
60
60 30

360

10

30
30

360

2x L100X10

2x L60X6

2x L60X6

2x L60X6

12 M12x50

L100X10

12 M12x50

L60X6

4 M12x45

L50X5

4 M12x45

L100X10

C

C

10
10

10

30
60

10

10 60 30

C - C

L100X10

70 530 70

58
53
2

52
2

10
54

70 530 70

D - D

950 10740 500

4350 4000 4000

12350

Vista filo RACK  "I"

Scala 1:50

850

520

100 750

SEZIONE filo "7' "

Scala 1:50

Q.+6485Q.+6485 Q.+6485

006

E

20
11
0

60

006

B

85
/8
0

15
/2
0 50

30
0

45
0

Inghisaggio chimico

Scala 1:10

Dettaglio tirafondi M20

tassello chimico M20 vedi dett.

tassello chimico M20 vedi dett.


